%BQ J-% ﬁ ‘ fiinf Briiche, Reihenfolge der Operationen mit
a o — Klammern

Name: Datum: Ergebnis:
(2—%)2—§+42—%= (4+%)2—§+52—%=
G+3P-5G- (M- G+GMx 3= G+ 5P -
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%9“ Jﬁ} fiinf Briiche, Reihenfolge der Operationen mit
a o N Klammern

Name: Datum: Ergebnis:
2 1 812 2 1 2 1 2663 23
Q-=-Y-Z+4--=_"Z=18=- G4+ =P -+57-——=""_""—=m—"
5 3 5 45 2 3 5 60 60
1 1, 1 2 4549 1, 1 y 2 23
— 4+ (= X —+(=+ =Y = — 3+ )Y —=-——-3"——=—_
(6 (6)) 6 ( 5400 ( 6) 2 5 18
3 1 1 991 31 2 1 33 3 9
A+ 2P — - x32+ - =" =90 ZHOY+ (2= =
( 4) 4 3 48 48 (5 5) 2(2 2) 25
I 1, 461 1 1, 3 3 1, 253
—+ =)= —(=— — + (= Z—(=+=)Y =
(3 3) ( ()) 1125 (2 (3))><5 (5 2) (300)
1 1, 1 1 1, 167 1 1, 22 1 433
——(= (=Y = — R ey g B
(3 (4))><2 (2 6) 288 (6 5) 5(3 5) 900
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